Bellwork  Alg 2 Tuesday, March 31, 2020
1. Solve. log,(x +5) —log,x =2

2. Giventanf = %1—5—2— find the remaining five trig ratios.

sin@ = cosf = cotfd =

secl = cscl =



Bellwork  Alg 2 Tuesday, March 31, 2020
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2. Given tanf = —111—52— find the remaining five trig ratios.
: H Rkl 15
sinf = e cos@ = 73 cotd = TI_Z:
opp ady e
vy Fi*(P Tav
sec = A3 csch = —/—/—}—
/5 7E
A L
(oS $i7)
W — opp
Tan & = 2
i OlJJ

A/lmsw Erz.q, \

/5x =
/5 7§
LX = 75 = I/.%
§@HCAH‘T?)A
“pp
I3

YR

X N2> +15 %+

¥ =Y //L*+/5 =
(X =/75 \

a—
—



